RETFAN B =X - B[ - B 04

KD ZIDK (SH1740%, AM27408, Bidr, CH645)
(1) B 2cm= 40 m (2) 360000 ) = H
(3) 47k 200m="F m (4)  249.92m= km
(5) ¥ 360m= Myl km (6) 0125 H = vl
(1) 1.5 = @ (8) ¥ 10.2km= 47 m
(9) 10004 = IR 1 (10) okt 3%m: e km
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(3)

(5)

(7)

9)

D 29X, (SHk15507F,

PO 6cm= 433 m
53 500m=7F5k m
57 240m= IRFH km
1.4 R = %

800 47 = IRf [l

© -

Ak245r50%, Bfk4amr20®, Cfk63308)
(2) 180000 ¥ = H
(4)  189.03m= km
6) 075 H= 5y
(8) M 11.4km= 47k m
(10) ik %m: 30 km
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REFAN B E& - B 04 BE®H

RD ZHIDX (SH1740%, Afk24r 408, B4y, C#647)
(1) B 2em= 7k m (2 s6000%—| 45 |H
2 x 60 = 120cm/77 = 1.2m/77 360000 = 60 = 6000 4
= 6000 < 60 = 100 F¥fiH]
_ 100 _ 25 _ 41
=51 ~ g H=4gH
(3) i 200m="F>k 3% m (4)  249.92m= 0.24992  |km
~60=200 _ 10 _ 41 249.92 = 1000 = 0.24992
200 + 60 = <=5 5 =33

(5) 47 360m= 5 21.6 km (6) 0.125H = o

360 x 60 + 1000 = 21.6 0.125H:%H:Mxé:i’)ﬁﬂﬁ:l%ﬁ

(7 1.5H%‘=F'Eﬁ:@ (8) Ik 10.2km= 73 170 m

10200

1.5 x 60 = 90 77 = 90 x 60 = 5400 ¥ 10.2 x 1000 = 60 = 60

=170

(9) 10004 = 16% fF ] (10)  Fif 3%m: H%iikm

1000 = 60 — 1000 _ 50 _ 42 33x3.6:171x3610:13.2

60 3 3 3
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KD Zy0 k. (SHk14r50 7,

(1) ™% 6cm= ﬁ;‘@m

6 x 60 = 360cm /%y = 3.6m/%y

(3) 4 500m=Fbk s% m
.an_ 500 25 o1
500 + 60 = 4o+ = 2> =8

(5)  2d0m=FE[ 144 |k

240 x 60 = 1000 = 14.4

(1) LA P

1.4 x 60 = 84 77 = 84 x 60 = 5040

(9) 8004 = 13% Bl
. 800 _ 40 _ .1
30060 = 200 — 40 — 331
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(2) 180000 & = 2— H

180000 = 60 = 3000 4
= 3000 = 60 = 50 F#

=50 _ 25 _o 1
o1 -2 2t

(4)  189.03m= 0.18903 km

189.03 = 1000 = 0.18903

(6) 0.75H = 53\

3

075 H=2H :24x%:18ﬂ%F‘Eﬁ:10806}

4

(8) M 11.4km= 4yi# 190 m

11400
x 1000 =+ 60 60

190

10 Bsin=mpa 189  |m

L 3o 2L _
5ZX3'6_ 1 x 3610 = 18.9
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